A\
s INSTALLATION INSTRUCTIONS

il
FISHBONE (/C‘f B -

OFFROAD
Universal

Spare Tire Jerrycan Mount

|
D) s

VIDEO AVAILABLE

WK
000 OO0
600 06000

REQUIRED TOOLS KIT CONTAINS QTy
13mm Socket M8x50mm Button Head Bolt 2
5mm Allen Key M8x25mm Button Head Bolt 1
4mm Allen Key M8 Flat Washer 3
Lug Nut Socket M8 Flange Nut 3
M6x20mm Button Head Bolt 4
Compatible Bolt Patterns; M6 Flat Washer N
4.5”x5” M6 Flange Nut 4
57%5” 3M Foam 2

FH2X5]

Jerrycan Cradle 1
Ratchet Strap, 8ft. 1
Cradle Rail 1
Cradle Tire Mount 1

2127600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



A

|
i)
FISHBONE 6\

1) ASSEMBLE
Begin assembling your mount starting with placing
the cradle onto the cradle rail. Line up the bottom
holes and secure the two with the included M6
bolts, washers, and nuts, with a 4mm hex wrench.

2)

Next, remove the backing of the large adhesive
foam and place it firmly into the bottom of the
cradle.

INSTALLATION INSTRUCTIONS
PART No.

FB21276

Universal
Spare Tire Jerrycan Mount

SETUP
Remove the backing of the circular foam and apply
it firmly to the cradle tire mount, so that the holes
line up.

Next, remove your vehicle’s spare tire and place the
tire mount onto the carrier’s studs, so that they rest
evenly in one of the 3 smallest fitting holes.

Resecure your tire.

INSTALL

Place the cradle rail onto the mount rail. Adjust
how far or close you would like the mount to sit,
and secure it with the 3 remaining bolts, washers,
and nuts with a 5mm hex wrench and 13mm socket.
The two longer bolts will insert through the sides,
with the shorter entering through the top.

2127600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



)

FISHBON Eé%“\%(& INSTALLATION INSTRUCTIONS

PART No. FB21276

eest Universal
Spare Tire Jerrycan Mount

OFFROAD 2

ENJOY YOUR NEW FISHBONE OFFROAD SPARE TIRE
JERRYCAN MOUNT!

Finally, insert your desired Jerrycan, and secure it
with the included ratchet strap.

e T— e de
£

2127600

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



